I Q

a

¢

£z D
2| Y F= 2
—|& 3|2 318
| A3 %N
€T £ S
S = |z e
* W( 2 & 2 &
ES e Y2
= SIE SIE
~ «° % <z o &
< < % o M
9 S S
To) & S ]
g S © \\
o o
S
o
d0@0bmb@ogygdo dsld@ssdo 122000
390035 g@o doldGodo  1:100
Jobmdo %o 03 0.7 29 26 ) 33 1.6
= 30000go @0 Ihyeo 3. 1000 = 200.0 3 100.0 3 100.0 X 7 366 3 59
5 . . . 1 @ ™ u @ — ™
€ £ Yomgero bodbyemo 3. ~ ~ K Q S 3
’ 3 3 3 S 8 & 3
.n&mz)_kqm dog0 bodbyeno 9. m m m m m m m
= % o o o o o o o
g5 & ® & & S o &
€L
3 g
R dobdogmo 3. 100.0 2000 100.0 100.0 101 366 933
303900 + 0 1 2 3 4 S
356030 339mgd0l bmdg@mo m- n-3 n-4 n-5 n-6n-7 n-8
do®Bg0eols Iygboz03s@odgBdo bme. Lognbobml
Fobbygagl gdsbdo s@lgdyge (. yom@aols
bobgenmdols Godo®msb dolislgemgano a%bols (6.839)
sbBo@FMdgA™Mbol bags®omn dmfymdol bsdydomgdo
bdoros gatoee | gaBimado
e[ 2 13

a®dogo 3Gmg0mo
330+00 - 335+46.7

3.3.b "3bsdggmgze 2001"

2014 §gmo




a
& 302.38 302.63 0.25
o
[9)]
@
w Ul
w
FA)
- 00
Sl 302.46 302.71 0.25
o
[\s]
&
no
(\s}
=
no
z 942
o 302.61 302.86 - 0.25
2| ~N—=— 30262 |30287 X 0.25
o
~
5
o
o
s
o
o
:II 0.0
o e 302.87 303.12 - 0.25
no
o
S
o
S
o
jun |
| e 30313 | 30338 [ 025
o
o
o
N
>
o
~
N~
:II 674
= 303.27 303.52 - 0.25
o
8 w
o o
= o
=S 30332 [30357 R° 025
o
& ”
> a
S~
T 354
= 303.38 303.63 0.25
o
no
[e)]
N
[e)]
o
g 3310+85 - bg ™32 dod3bbog gem.
300y bodhmea 30358
_ /\ 3(),‘](4)(7)(,‘])?)(5)43‘]1(6-(*—80)'- ;(]) 3310495 Lo3dmgdBm
o L= 30352 30377 |2 \vl 025 doce; 3603 v dogno d=109 L=9.03
S =
o =
§,7§ Sy
3 3 rf
FE¥s
S cs =
e ~
. = ¥% 2 N
[
L -
jg <% SN
o3 C’ v )3
38 2¥3Z
o S o>
i LSE
&3 TEe
e |ZLEC B B
= o
23 |3EES =
S S ° T8
"—CP o
o2 <
g 2 = g
> 33
< 32
FERENICRE
94 o & N
E% 2 n
o~ o
) o
@ =l
Bl
NOD: <3 [ |
° jcs
2L O] 1 =
& 3 \ 7= 00
SEPE 2| @ 303.87 304.12 - 0.25
B8 | &
=3 &
§ w% [-IG 3413+71 baddmgdHe
= ° o > dogmo d=103 L=9.09




00+02%¢ - 00+¢1fe

oasobwye 0fopwe

0@0weop Rgeq qoewBAwE wowethe qoguQlew@asctsge
©@P89) 9092 oBLITBEYq0g gewwepel) quewasbqey

Q0Rwwo? ) BEeLgwe 0p gl qRuwlqge)
Qwgoqaseq Bwq 0pQLQosBeeoHoglp qosBoLQuep

osiCl 107
1007 ©€Ca3EPpeq®, qep

0wt | codsely

£l
0gCa3tylnts

81-U

61-U

02-U

1e-u

22-u

ge-u

ye-u

92-ge-U

L2-U

€l

4!

Gl

91

L1

8l

6l

02

9y

v'LST

0001

6vL

T'Ge

0001

0001

8'8

216

0001

303.87

303.93

303.72

303,56

303.45

303.40

303.23

303.33

303.37

303,63

304.12

304.18

303,97

30381

303.70

303,65

30348

30338

303.62

303.88

001

. 025
o
3313+71 LasddmgdBem
_% dogno d=1.09 L=9.09
o
426 025
a
~
N~
dogBmgds 3314+00-bg
dodxgbog v
=
= 025
S
o
o
= 025
~
E
0
o doghmgds 3316+70-by
oy gbog v
749 0.25
o
31
=/ro
o
= 025
S
f g
o
doghmgds 3317+58-bg A
dod3bbog
3
= 025
g
o
= 0.25
= 025
no
)
doghmgds 3319+49-by A
do®3bbog
N4
o
= 025
dogtmngds 3320+09-bg
dodxgbog v
o
~

3420458 - bg @33 dotixgbog g "n‘(,
dmdbg bodbyemo 303.85




Gugurgus vgis s vy g
dod3bbog

00+L2% - 00+02°¢
oaSofbwye 0Bopy?

0@0weop Rgeq qoewBAwE wowethe qoguQlew@asctsge
©@P89) 9092 oBLITBEYq0g gewwepel) quewasbqey

Q0Rwwo? ) BEeLgwe 0p gl qRuwlqge)
Qwgoqaseq Bwq 0pQLQosBeeoHoglp qosBoLQuep

osiCl 107
1007 ©€Ca3EPpeq®, qep

0aCOYLD | coe@q

£l
0gCa3tylnts

Le-U

82-U

62-U

oe-u

1e-u

2e-u

ee-u

ge-1

Bl

02

e

ee

€2

¥e

G2

92

L2

0'007

0'001

L'69

€0€

0001

0001

0001

6'86

0001

30363

303.70

303.27

30295

302.84

302.81

303.20

30361

30387

303.88

303.95

303,52

303.20

303.09

303.06

303.45

303.86

304.12

0.0

0.25
dogtmngds 3320+09-bg

9ok gbog v

o
~
3320458 - bg ™33 dodxgbog geo.
bmdbg bodbygeno 303.85
=
o
o
80 0.25
=
=)
~
w
80 0.25
o
0
~
»
a
697 0.25
w
o
w
w
[o0]
00 0.25
S
o
o
o
w
dogomgds 3323+86-bg
dodxgbog
00 0.25
w
)
g
o
80 0.25
»
doghmgds 3325+27-bg A
dod(3bbog
S
o
08 0.85
o
o
[Xs]
©
[Na]
A5 0.5
o
~

D




